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This one also goes out with mx°>n — 773°H172 N ORI N7

OVERVIEW

The X3 attempted to refute the 1" (which would teach us that a 7n2’ is
WY namn with 021 nnon) from nWR by arguing that an WX is VA2 7RXY but
not a 7m2°. The X3 responded that a 2’ is [also] aR¥Y with 7%°%n. Our
mooIn explains this answer.

Moo responds to an apparent difficulty:'
219999 1Y 2PYN XY 0 DIPNA NYINT 1%

Since 173°%7 is in the place of v3, therefore the X3 did not consider the
fact that an WX 1s VA2 7RXY and not a 712, to be a valid refutation of the 1"p.

SUMMARY
Dissolving the relationship with 7%°217 is the equivalent of dissolving it with
a L.

THINKING IT OVER

1. In a1"p if we can show that the (original) % (which is the 72%%) is more
T in any way that the 1 (the 71%), then the 1"'p is refuted regardless that
in countless other ways the 9P is more %p than the mn. Why is this case
different; seemingly only an WX is 1032 XX and not a 7n2>? That fact that
only a nn2’ is 7¥°%12 78¥Y does not alter the fact that only an 7wX is 7R¥Y
vaa!

2. How can mooin answer that v and 7%°%1 are equal when later the X7
attempts to learn out that both 7»2° and 7wX should go out with vx and 7%°on
respectively through a Y"p?!°

" The question of the X3 is that an 77wX is v32 XEY and a 7n2 is not; how did the X m refute this by saying
that a 72> goes out with 11%°%m. The fact still remains that a n2> does not go out with v3!

? There is no advantage in the 7x°%> of an 7wX over that of a 7n2>. They each have a (separate but) equal
manner to be freed from their bond.

3 See a"nR # 110 and mu w772,
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